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Outcome 1 - Calculating distance, speed and time 1
with context questions ge=
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Complete the following calculations... o EE——— - I

* A ferry left Kirkwall at 1730 and
arrived in Lerwick at 2300.

The distance from Kirkwall to

Lerwick is 121 miles.

What was the average
speed of the ferry?
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Michael flies from Glasgow to Paris for a business
meeting.

* The plane leaves Glasgow at 0830.

*+ The distance from Glasgow to Paris is 689 miles.
* The plane flew at an average speed of 530 m.p.h.
* Paris is 1 hour ahead of Glasgow.

What time did Michael arrive in Paris?
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